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Il Semester B.Com. Examination, November/December 2016
(2015-16 & Onwards) (CBCS) (F+R)

COMMERCE
3.6 : Quantitative Analysis for Business Decision - ]
Time : 3 Hours Max. Marks : 70
Instructions : Answers should be written completely either in Englishor in
Kannada. .
SECTION-A

1. Answerany five sub-questions. Each sub question carriestwomarks.  (5x2=1 0)
a) What is meant by perfect correlation ? '
?) ‘TOFPEF ABBOWOE DT 9
b) State the assumptions of interpolation,
) ‘aolTFpRSeSS %eg)ﬁﬁ%*dgl 2380000,
c) State the components of time series.
R) ‘Ra300% ATes0 @osmem% 3OR,
d) fbxy = 1.2, byx = 0.8, obtain *r'.
@) bxy = 1.2, byx = 0.8 33, ‘' BordeeR000,
e) State any two merits of sampling.
Q) ‘Wno'oD QUTOSRENMVR) 391,
f) What are mutually exclusive events ?
") TORG Fe B0, DOTITE 9
@) Distinguish between ‘parameter’ and ‘statistic’.
%) ‘TTIeIT” 303 RLINT Qe %@gﬁﬁ#ﬁg{ SO,
SECTION-B
Answer any three questions from the fol'lowing. Each question carries six marks.

2. ltis known that the population S.D in waiting time for new gas connection in a
particular town is 25 days. How large a sample should be chosen with an allowable
error of 6 days of the true average waiting time, at 95% confidence level ?

(Z value at 95% confidence level = 1 .96).
2OTD BNSES B TR ROTBE WO B0I0 553003 255034, 0% FRed3 D3
25 QAN awh), Jows T, 95% ©d), TorcdRens BP0, AesToT FoIROe0T
6 QR 03003 SHHOIRTT, WRWOD Mg R, 7
(Rress : Sows o, 95% I B = 1 .96).
P.T.O.

(3x6=18)
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3. A single card is chosen at random from a standard deck of 52 playing cards.
What is the probability of choosing
a) Akingoraclub ?
b) Akingoraqueen?
52 Q66" URE 20030 03, 03y ERBTN
a) Dot B BIF 00 030 RoLTEss R, ?
b) oo eaes TDE8 RSO3, Brio320e8 RORRS ), 7

4. Find the index number for 2006 from the following table of index numbers, using
binomial expansion method.

Year : 2004 | 2005 | 2007 | 2008

Index No. : | 100 | 107 | 157 212

2006¢ SR 3 Rees o8R0 3 BRI OTTMPOTS LRV 35D o DTSEY,
Bor3B0BOD.

==de: | 2004 | 2005 | 2007 | 2008

Mwados: 100 | 107 157 212

5. The following table shows the mean and standard deviation of prizes of two shares
in a stock exchange.

Shares Mean (in Rs.) | Standard deviation (in Rs.)

A Ltd. 39.5 10.8

B Lid. 475 16

If the correlation coefficient between the prices of two shares is 0.42, find the
most likely price of share A Ltd., corresponding to price of Rs. 55 of share of
B Ltd..

399003 Tedomd Reo7 tIeSedd FoaR0 By TRRedS D3RR 3redBT.

Aot | doodo(dn) | Bmweisauod(3a)
A Ltd. 39.5 10.8

B Ltd. 47.5 16

Aot FErone0.42 T8 B OR0SETS oS 138 8. 55 iomant A’ dnxa’s
RO ISR BorEERA.
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6. Obtainthe rank coefficient of correlation from the following data.

Prize of Tea (Rs.) 75 | 88 | 95 (70 | 60 | 80 | 81 50

Prize of Coffee (Rs.) : | 120 | 134 | 150 [ 115 | 110 | 140 | 142 | 100
891 8e30om BeoBRon ‘AT s" S 3,08 BER0NI0T AT JOmRORD,

Wmrnud(de) | 75 | 88 | 95 | 70 | 60 | 80 | 81 | 50

mapo:bzid(d,@) 120 | 134 | 150 | 115] 110 | 130 | 142 [ 100

SECTION-C

Answer any three questions from the following. Each question carries
fourteen marks. (3x14=42)

7. The following data relates to the number of passenger car (in Millions) sold from
2000 to 20086. '

Year : 2000 | 2001 2002 | 2003 | 2004 | 2005 | 2006

Number : 6.7 53 4.3 6.1 5.6 7.9 5.8
a) Fita straight line trend to the data and obtain the trend values.
b) Estimate the sale of cars for the year 2010.

s é@égp’oa’ RN, 2000 003 20060 TR SRRV BTN INTIES
(20003FTHE).

A 2000 | 2001 | 2002 | 2003 | 2004 | 2005 | 2006

RBRTVE soa.g )| 6.7 5.3 4.3 6.1 5.6 7.9 5.8
a) ﬁmgpow £908 LI0BNYTS RO @dﬁo&:@{ BRODY, @dg dn’ae%r{@éag( BORIEEOND,
b) 20103¢ SR & oz TRTDLII), LOTTNR,

8. From the following data, find out the number of students who secured more than
40 but less than 45 marks.

Marks : 30-40- 40-50 | 50-60 | 60-70 | 70-80

No. of students : | 31 42 51 35 31

30 E0UE0R3 R800000340808 By G345 oBeNcE SRs TARTR S OF Y
R0z 0308 BomOLEBCD,

08NN 30-40 | 40-50 | 50-60 | 60-70 | 70-80

Qwagsﬁfﬂ%* Soa% ) 31 42 51 35 31
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9. From the following data on six cities, calculate the coefficient of correlation
between density of population and death rate.

City : A B ¢ | b E F

Density of population : | 200 | 500 | 400 | 700 | 600 | 300

Population ('000) : 30 90 40 42 72 24
No. of deaths :V 300 1440 560 840 1224 312
ot LIS oS WRL X To v o ‘BWIIOTE 808y ‘WoTew @’mmg QOOR ABROWOT
ﬁ%?ﬁ)a‘a@d&}i BOTRIEROND.
8ng: A B C D E F

wRRosd TeomS: | 200 | 500 | 400 | 700 | 600 | 300

adﬁos% : 30 90 40 42 72 24

Eveletao) 5093 : 300 1440 560 840 1224 312

10. Estimate the revenue generated for the year 2013 and 2015 from the following
table.

Year : 2010 [ 2011 | 2012 | 2013 | 2014 | 2015 | 2016
Revenue (Rs. in Crores) : [ 100 | 120 | 150 - 210 - | 320
2013 0892015 Je BwF e 3003 OZIEIR, OT3R.
[R: 2010 | 2011 | 2012 | 2013 | 2014 | 2015 | 2016
wrood (Bneeide.):| 100 | 120 | 150 - 210 - 320

11. Obtain the two regression equations from the following data and estimate the
value of X when Y =50 and the value of Y when X = 45.

X 40 50 38 60 65 5 | 35

Y 38 60 55 70 60 48 30

g BRLITE STTMPOTS OB Bo023Re0 Né?btaﬁﬁfﬁa'b B0@o8RC0 TRY = 50 QTN
X 2,3"605353 BBy X =45 |y’ ?J"Q?o:bm #odoéo@oi’bb

X 40 50 38 60 65 50 35
Y 38 60 55 70 60 48 30
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